[+ 2 B R $2 A FF (D C 3,44k )

M30;M12

M30x50 M12x75 M12x75
22mm 40mm 2.0mm 4.0mm 4.0mm 8.0mm
#EA e EBA
ILM30-M22NA-Y3U4/C50 | 1 | ILM30-F4ONA-Y3U4/C50 | IM12-MO2NA-Y3K3/C75| 1 |IM12-FO4NA-Y3K3/C75 | IZM12-MO4NA-Y3K3/C75 | 1 | IZM12-FOBNA-Y3K3/CT5
ILM30-M22NB-Y3U4/C50 | 2 | ILM30-F40NB-Y3U4/C50 | IM12-M02NB-Y3K3/C75| 2 | IM12-FO4NB-Y3K3/C75 | IZM12-M04NB-Y3K3/C75 | 2 | IZM12-FO8NB-Y3K3/CT75
ILM30-M22NC-Y3U4/C50 | 3 | ILM30-F4ONC-Y3U4/C50
ILM30-M22PA-Y3U4/C50 | 4 | ILM30-F40PA-Y3U4/C50 | IM12-MO2PA-Y3K3/C75 IM12-FO4PA-Y3K3/C75 | 1ZM12-M04PA-Y3K3/CT5 1ZM12-F08PA-Y3K3/CT75
ILM30-M22PB-Y3U4/C50 | 5 | ILM30-F40PB-Y3U4/C50 | IM12-M02PB-Y3K3/C75 IM12-F04PB-Y3K3/C75 | 1ZM12-M04PB-Y3K3/C75 IZM12-F08PB-Y3K3/C75
ILM30-M22PC-Y3U4/C50 | 6 | ILM30-F40PC-Y3U4/C50
ILM30-M22SZ-Y3U4/C50 | 9 | ILM30-F40SZ-Y3U4/C50
ILM30-M22ZZ-Y3U4/C50 22 | ILM30-F40ZZ-Y3U4/C50 | IM12-M02ZZ-Y3K3/C75 | 22| IM12-F04ZZ-Y3K3/CT5 | 1ZM12-M04ZZ-Y3K3/CT5 |22 | 1ZM12-F08ZZ-Y3K3/CT5
wt-
i I!u
M30x1.5 M30x1.5 M12x1 M12x1 Maxt M12x1
[} i [ [ w [ | w©
N 1
~ <[ <:-r <| <[
k g 3 o 5 " 5 7 5 "
g < IE: 5, ® 5 o 5 o 5
o | o r—— swie T swi6 T swie 1 swi16
0 0 O LED(4x) re) O O[LED(4x)
o [ | N w
M12x1 M12x1 J:é?_‘ —J,::‘"—QEDJ_ JI:;LEE)J_ J::HLEE')J
29 21 29 21 1 29 21 ! 29 21 |
22mm=10% 40mm=10% 2.0mm+10% 4.0mm+10% 4.0mm=+10% 8.0mm=10%
1~10% 1~10% 1~10% 1~10% 1~10% 1~10%
$£66x66x1Tmm $£120x120x1Tmm #12x12x1mm #12x12x1Tmm $£12x12x1Tmm $£24x24x1mm
200Hz 100Hz 2000Hz 1500Hz 1500Hz 500Hz
<Sn*3% <Sn*3% <Sn*3%
<0.01mA <0.01mA <0.01mA
<10mA <10mA <10mA
<200mA <200mA <200mA
<2V <2v <2v
W RAER I, LB RO INENR I R R RS | AR R IR RO R R EBIER R | R RERIP L BRI R 3P, S S G B AR
IEHR R () IEHE RAT(E ) MIEERAT(HE &)
-25~+70°C -25~+70°C -25~+70°C
<Sn*10% <Sn+10% <Sn*+10%
-25~+80°C -25~+80°C -25~+80°C

50MQ 1L E(DC 500VIkRR3R), 78 . EREE H F5h 52 < (8]

50MQ L E(DC 500VIkBRER), 7t i BpEE # Fnsh st 2 [8]

50MQ LA E(DC 500VIkERFR), 7 e AR EE S NS 5 2 18]

% & ¥R EEN60947-5-2

5 & KR EEN60947-5-2

5 & ¥R HEEN60947-5-2

IP67

IP67

IP67

A5TM 123 #2235

3% F E R

3% F E R

ST i ek 4 4 SR 4G T A - 2B

S 72 A B 4 S SR 6N T M R R Y

ST A B 4R O SR 4G N T 4 H 2B R

F:1,2,3,4,5,6,9, 2208 %ES, EN057T. MEHEBEMHE(DC 5V,DC 10-60V)iEEAE L.

http//:www.shmuxi.com

woobp B§WEST

B~

i
e
)57

X

o
ota

deiid S

B it S

FEE w

B

Bair ok

B8



	Ò³Ãæ  1

